efficiency efficiency efficiency

efficiency

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

$0000000,0000000000°%%000000%000000000000%000%000000000

wheel -2 chamber 3 sector 3 sl 2 layer 4 I

10 20 30 40 50 cell

§i.ooooooo.0.0...o.O.o.oooooooo.00000000.5000000000000000
wheel -2 chamber 3 sector 3 sl 2 layer 3 I

10 20 30 40 50 cell

.ooooooooooo..0.0000.0000000o'ooooooooooio..oooo.oooooio
wheel -2 chamber 3 sector 3 sl 2 layer 2 I

10 20 30 40 50

cell

wheel -2 chamber 3 sector 3 sl 2 layer 1

ml__

10 20

cell



